NAME: ___________________               INTEGER TEST 	               Date:   12-11-12
	Solve.
-8 ( -5) ( -1/2)=   _________
	
Model with integer chips how to solve the following:

-7 – 4 = _______

	Break -22 into two negative numbers so that one of them is the opposite of +16.  

-22 + 16=      ________
	Model with integer chips how to solve the following:

    3 – 9 = _______

	Solve.
13 – 33=   _______
	Use a number line to model how to solve the following:

    -6  - 4 = _____

	Solve.

-150
- 2
	
What is the answer for this problem:
-5 + 5 = ______

	
Write the integer that correctly represents the following:

Twenty feet below sea level
	The value of stock decreased $4 each week for six weeks. 
Write an integer to represent a one week decrease in the stock.   __________
Describe the change in the stock price at the end of six weeks.       ___________



